

Apartment in Cospicua



Cospicua, South



€285,000

Reference No: 240461001-700

 Total Rooms: **5**

 Floor Area (m²): **91**

 Bathrooms: **1**

 Bedrooms: **2**

Apartment - For Sale - Cospicua

Cospicua - Elevated Apartment (part of a Karrejja) located in a quiet UCA area and very close to the 3 Cities Waterfront. The property consists of a welcoming Hall, Kitchen/Living/Dining, 2 bedrooms + a study which can easily be a third single bedroom, a main Bathroom, and an internal shaft. Ideal for a rental investment. Contact your preferred agent for more information.

Features

- ✓ Water Utility

Rooms

- ✓ Kitchen/Living/Dining : 5.17 x 3.2 m (16.54 m²)
- ✓ Double Bedroom : 4.54 x 2.78 m (12.62 m²)
- ✓ Single Bedroom : 3.48 x 2.92 m (10.16 m²)
- ✓ Office / Study : 3.08 x 1.97 m (6.07 m²)
- ✓ Hallway : 2.9 x 1.88 m (5.45 m²)
- ✓ Hallway : 3.13 x 1.55 m (4.85 m²)
- ✓ Bathroom : 1.8 x 1.72 m (3.1 m²)

Gallery







RE/MAX Professionals - Mosta
RE/MAX Professionals - Mosta

M: 27998977

E: mosta@remax.com.mt

T: 27998977

RE/MAX Professionals - Mosta
24, Vjal L-Indipendenza, Mosta, Malta